



BOSONIZATION : Mapping interacting fermions (fermions) into non-interacting bosons

chain of fermions $\dots \dots \dots L$ sites

- 1) NOW - INTERACTING Dimer system
- 2) LUTTINGER PROBLEM $\rightarrow$ Gutzwiller ansatz $[n, n]$
- 3) (Haldane) $\rightarrow$ fermions interacting $\rightarrow$ bosons (fermion-fermion interaction) $\rightarrow$ Luttinger liquid
- 4) Asymptotic expansion to bosonization $\rightarrow$ fermion to boson mapping
- 5) JORDAN - WIGNER transform : fermion to boson mapping (fermion to boson)
- 6) Sine-Gordon model : typical phase transition BKT phase transition

$$H = -\frac{1}{2} \sum_{i,j} (c_{i,j} c_{i+1,j} + c_{i,j} c_{i,j+1}) - \frac{1}{2} \sum_{i,j} c_{i,j} c_{i,j+1} c_{i+1,j} c_{i+1,j+1}$$

$$H = \sum_{i,j} \left(\frac{1}{2} c_{i,j} c_{i+1,j} + \frac{1}{2} c_{i,j} c_{i,j+1} \right) - \frac{1}{2} \sum_{i,j} c_{i,j} c_{i,j+1} c_{i+1,j} c_{i+1,j+1}$$

$$H = \frac{1}{2} \sum_{i,j} \left(\frac{1}{2} c_{i,j} c_{i+1,j} + \frac{1}{2} c_{i,j} c_{i,j+1} \right) - \frac{1}{2} \sum_{i,j} c_{i,j} c_{i,j+1} c_{i+1,j} c_{i+1,j+1}$$



$$\psi(x) = \frac{1}{\sqrt{\pi}} e^{-\frac{1}{2} m \omega^2 x^2}$$

DERIVATIVE OPERATORS

$$\frac{\partial}{\partial x} \psi(x) = \frac{1}{\sqrt{\pi}} e^{-\frac{1}{2} m \omega^2 x^2} (-m \omega^2 x)$$

$$H \psi(x) = \frac{1}{2} m \omega^2 x^2 \psi(x) - \frac{1}{2} m \omega^2 x^2 \psi(x) = 0$$

- $\frac{\partial}{\partial x} \rightarrow b, b^\dagger$: bosonic
- H is quadratic in $b, b^\dagger$
- H is quadratic in $b, b^\dagger$ $\rightarrow$ exact solution (bosonization)

$$[H(b), H(b^\dagger)] = ?$$

$$[H(b), H(b^\dagger)] = \frac{1}{2} m \omega^2 [x^2, p^2] = \frac{1}{2} m \omega^2 [x, p] [x, p] = \frac{1}{2} m \omega^2 \frac{i \hbar}{m \omega} = \frac{i \hbar \omega}{2}$$

$$[H(b), H(b^\dagger)] = \frac{1}{2} m \omega^2 [x^2, p^2] = \frac{1}{2} m \omega^2 [x, p] [x, p] = \frac{1}{2} m \omega^2 \frac{i \hbar}{m \omega} = \frac{i \hbar \omega}{2}$$

$$[b, b^\dagger] = \frac{i \hbar}{m \omega}$$

$$H = \frac{1}{2} m \omega^2 x^2 - \frac{1}{2} m \omega^2 x^2 = 0$$

$$\frac{1}{2} m \omega^2 x^2 = \frac{1}{2} m \omega^2 x^2$$

$$H = H_0 + H_1$$

$$[H_0, H_1] = \frac{1}{2} m \omega^2 [x^2, p^2] = \frac{1}{2} m \omega^2 [x, p] [x, p] = \frac{1}{2} m \omega^2 \frac{i \hbar}{m \omega} = \frac{i \hbar \omega}{2}$$

$$[b, b^\dagger] = \frac{i \hbar}{m \omega}$$

$$[b, b^\dagger] = \frac{i \hbar}{m \omega}$$

$$H = \frac{1}{2} m \omega^2 x^2 - \frac{1}{2} m \omega^2 x^2 = 0$$

$$[b, b^\dagger] = \frac{i \hbar}{m \omega}$$

$$H = \frac{1}{2} m \omega^2 x^2 - \frac{1}{2} m \omega^2 x^2 = 0$$

$$[b, b^\dagger] = \frac{i \hbar}{m \omega}$$

$$H = \frac{1}{2} m \omega^2 x^2 - \frac{1}{2} m \omega^2 x^2 = 0$$

4, 0

$$H = \frac{1}{2} m \omega^2 x^2 - \frac{1}{2} m \omega^2 x^2 = 0$$